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Today we will 7”va learn 775 97 of mn2’ noon. The topics
we will learn about include:

We generally say 10109 *71m X3 X921 PN that a pios will

oo s s RN RIPH PR
always follow its simple and literal meaning. Even if there
is a 7w77 on this p1oo, we will also follow its simple 1U1m9 ’7’D

meaning.

TIYR

is a woman who is unable to bear children, and
jolniv)

is a man who is unable to have children
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. A firstborn only receives a double portion of the inherit-
ance from the possessions that are already in the deceased
father’s possessions at the time of death, but not from
what will potentially come into the estate of the father.
If a married woman commits adultery both the husband
and the adulterer are not allowed to lr)}é married to her. bU] J 1 J ? R 1 1 D :
Therefore the husband must divorce her, and the adulterer

' MR

may not marry her, and if he does he must then divorce
PTMIN2D

her.
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So let's review
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It's a m3p» for the oldest brother to do the o

197 JOPI OTR DR

and if the younger brother went ahead and did it himself
then he receives the mzn

The 1 begins by presenting a X911 that teaches the
source for this 17 that it's a mx» for the oldest brother to do
the oy

The poo says

ORIWM W Y R AR OV HY O ToN TR 1037 77
Simply understood the 109 is telling us that the 1st born
son of the 02’ and 712’ should receive the name of the
deceased brother, and thereby, the deceased brother’s
name won't be erased.

However, the xn92 interprets this 1090 as a continuation
of the previous p1oo that says;

2 RS 1D ANPD OY R AnY

That the 02’ should marry the 712, and in reference to this
the 7 says;

MNIA7 M

D279 972 MDY 10

That the oldest brother should do the mz» of o1

The xn12 continues to explain the 7109, and derives
various 0'»7 from it:

7510 TOR

He shall marry the nn2 if she is able to give birth - this
comes to exclude an "n»x that cannot have children

IR DW Sy o

momb

The o2 will inherit the estate of his deceased brother.
MWW AN R

I VW D0 VIO

That the 02’ only marries the 712 if deceased husband was
able to have children; this excludes a ©70 who is unable to
have children

The xn»72 also teaches us that the reason we do not
interpret the Posuk yrx ow 5y oy literally, to name the
child after the deceased brother, but rather n5m15, is based
onamw oy

Since here, regarding Yibum, it says;

IR oW Sy o

And regarding children that qo» might have after o7ox
7w, the Posuk says;

DNSMI1 IR’ DIPAR DW HY

That they will inherit Eretz Yisroel as part of nwim 070X
15M3 157 TR DY 0

15MI% IR MR DV IR

Just as there it refers to inheritance, so too here it refers to
inheritance

N7 explains

1512 700 5927 23 YV R
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Even though generally the p1o5 never departs from its
simple meaning, here a mw 771 comes and completely
removes the 109 from its simple meaning
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The x93 then moves on to pose a series of questions on
the xn12. All of these questions center on the fact that the
709 uses the term o1 which means the firstborn and not
the oldest brother.

R T VIVID
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Let us say that a 1151 has the mx» of Yibum but all other
brothers do not?

The xx answers that this cannot be the case, since the
770 teaches us M52 77 XYW PIR NWN, that a brother that
was born after his older brother died without children
does not do Yibum - Now, that brother is certainly nota
7153, and still the 77n needs to exclude him. This clearly
shows us that the mx» of 012’ is not only for the 103

The X2 then presents a number of other possible
explanations:

That the mz» of 02’ only applies if there is a 151 in the
family, but otherwise there’s no mz» of 012

That if there’s a 01 and a younger brother went ahead and
did the o2’ without permission then it's not valid, but if
there’s no 7172 then the 012’ of a younger brother is valid
When there is a 7133, we first go to the oldest brother, but if
there’s no M>3, any brother may do the o2,

That only a 152 who is Meyabem inherits the brother’s
estate, but a younger brother who is Meyaben does not
inherit.

The X rejects each of these explanations based on
Psukim, and concludes that the 109 teaches us that
n>nnn> there’s a mxn» for the oldest brother to do the o2,
but 72172 1f a younger brother went ahead and performed
the o2 it is valid.
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A series of questions that center around the fact
that the ;Do uses the term 7122
which means the firstborn
and not the oldest brother.
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Let us say that a 122 has themxn of Yibum
but all other brothers do not?

P C&W%//L&M/m/fw 255

"0 wa @n&/y@?‘ the D10 still
M2

needs ty exclude him !
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But there are other possible explanations:

If there’sa 9122
and a younger
brother did
m2? without
permission
then it’s not
valid

That 012?
only applies
if thereisa
D2 in the
family

Onlya 122
who is
Meyabem
inherits the
brother’s
estate

The 803 rejects each of these explanations,
and concludes that the proo teaches us..

n2’NnNn° T2Y172
Itisamsn If a younger
for the oldest brother went
brother to do ahead and did it,
the o2’ it isvalid.
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The X concludes by asking
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So why does the nmn refer to him as a 1152

The xm3 answers

PImN13 IRI2 SO1IIPR NI

PImna13 IR SO IPR R IR

As a3, who only inherits 02w *9, a double portion, from
that which already was in the father’s possession at the
time of his death, but not from that which will potentially
come in to the estate after the death of the father - so too,
the 02’ only inherits that which already was in his
deceased brother’s possession, but not from potential
income.

The x5 now moves on to the next 73wn»

VN T OPRT
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If there were rumors about a man and a nnow, and she was
subsequently freed, or about a man with a 71, and she
subsequently converted;

DN RO N
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He's not permitted to marry this woman, so that people
don't say that the rumor is true. Nevertheless, if he did
marry her, he does not have to divorce her, since this is
merely an 13177 MON.

However,

If there were rumors about a man and an WX NWN, and her
husband was compelled to divorce her, the suspected
adulterere may not marry her, and if he did, he must
divorce her, since it is an RN IRT NON.

The R ) asks

RO RPHD NINARA

We see from our mwn that the woman is considered a N
NN

But we have a contradiction from a Xn»721 which declares
the m73 invalid if one converts for one of the following
reasons:

In order to marry a 7R

To benefit from the prosperity of the Jews, for example, as
in the time of 7510 mobw1 513 717 or in PwR MY

In order to avoid a plague

Because he was told to in a dream
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The MMJ is invalid if one converts
for one of the following reasons:

Inorder  To benefit Because
tomarry  fromthe of a Plague
aJew prosperity ora
of the Jews Dream
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The Xy answers
D 073 0212 WIRA 17270 71957 PR’ 227 IR 7O WIVR N
We follow the opinion that the m7) is valid

The X2 proceeds to present a discussion regarding the
second Halachah of our Mishnah:

T IAND MR WR DR Sy OIN

N3P DIV 0 HY 9N

If a husband was compelled to divorce his wife because of
rumors of adultery, the suspected adulterer may never
marry her, and if he did, he must divorce her.

We learned in a Rn2

D32 712 PRWI D NOR D727 703

NZNRD D117 v IR

In a case of K5p, rumors -

We only say x'xp, if the woman does not have children
from her first marriage.

However, if she has children from her first marriage, she
does not have to be divorced by the suspected adulterer, in
acase of Rbp

The reason for this is that by forcing them to divorce, we
are confirming the rumors, and we are 1Y X'z, casting
doubt on the legitimacy of those children.

The xn»72 continues;

IRV TV IR DN

NI D12 03 712 W 1°0R

However in a case where there were 0*7p that she did an
172y, then even if she has many children X'xy.

According to one explanation in the gemora, Rav agrees
with the Braisa 1355. They merely disagree in the vwso of
the Mishnah.

Based on the word jyvin, the Braisa understands the
Mishnah’s ruling of X’3y to be speaking of X5p32, rumors -
and therefore, only o117 pPRWD.

Based on the word mx3im, Rav understands the
Mishnah'’s ruling of X°xy to be speaking of 7v3,
witnesses - and therefore, even 11 7> ww>,
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The suspected adulterer may never marry her
and if he did, he must divorce her.
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According to one explanation in the gemora..
Rav agrees with the Braisa n25n5

Rav only disagrees with the Braisa
in the WS of the Mishna
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. The xm3 also presented an alternative explanation of 29, . ..
where he actually disagrees with the Braisa 1355, and he According to another explanation in the gemora...
holdsthateven ina case of Rav disagrees with the Braisa n25nb
We only say X'z when there were o7 - Rebbe

And the Braisa follows the opinion of *17, that in a case of

0117 PR we say N’sv even based on X7p. n’.fy RI,P
Witnesses Rumors
nY W 19DR YW Y PR
02 NN 012 [aph]
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The X313 concludes;

297 7PN RNOP The Nn2a concludes...
197 PIND RNOSM

Sometimes we follow 17, and sometimes we follow »27 s s
2709 R>T ROp2 RM P°OOT ROPA N7 Nﬂ: l-n Rﬂ: ﬂ

If the rumor continued for more than a day and a half, then 3y )
we follow »17, and the husband must divorce his wife even n n“: n n“:

if there are no o7y )

If the rumor did not continue for more than a day and a :ﬁﬂ :ﬂﬁ
half, then we follow 2, and he must divorce her only if
there were 0TV

ROPA XM ROP2A RN
0D RDT  PODT

This discussion continues on the next Daf.
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